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COST ACCOUNTING 11.54

(b) New SP per unit =2 30 less 5% 4 zg.gu
(-) V.Cost per unit (excluding salesmen commission) ¥19.50

New Contribution per unit < 9 .
Fixed cost X 3,60,000 +3 90,000
< 4,50,000

Fixed Cost
Contribution / unit
Rs.4,50,000

9
50,000 pairs of chappals.

BEP (in units) =

1.60

1.50
10

M QI

(c) New SP per unit (X 30 plus §%)
(-) V. Cost per unit (¥ 21 + T 0.50)
Contribution per unit

Fixed Cost
Contribution per unit
< 3,60,000

210
= 36,000 pairs of chappals

Answer to Q. No.56 :
(i) New SP per unit = T 50 less 10%

= 45
Variable Cost per unit
Materials <20
Manufacturing cost ¥ 15
235
Hence, contribution per unit :
= SP/ Unit— VC / Unit
=345-335=X10

Units to be sold to earn profit of ¥ 5,00,000 =

AU A

BEP (in units) =

Fixed Cost +Desired Profit

Contribution per unit
=Y 3,20,000 units

(i) Fixed Cost = < 27,00,000 +% 3,00,000
= < 30,00,000
SP per unit = R 50 (at present)
Variable cost perunit = T 35

Hence, contribution per unit is T 15

Units to be sold for profit of T 5,00,000 = Fixed Cost + Desired ALl
Contribution per unit
%'30,00,000 + %5,00,000
X15
2,33,333 units.

i




-) Varable cost per
l 1. Material al
2. Labour 120
3. Overheads 30
Contribution pe, umt—-l?_
Existing P/V Ratip = _SCER 100 - 108
Proposed Situatiop, .
SP per unit '

(-) Variable cost per unit

1. Materials (X 120

Plus 7 50
2. Labour (X 30 plys 10%15 %)
3. Overheads (X 12 p|ys 5%)

Contribution Per unit

(a) We are given

Hence, P / V Ratio = Contribution
Sales
40 - X - 174.60

X

100

x 100
Solving, we get x =291

Hence, SP in the forthcoming year should be 7 291

maintained.

ﬂz‘fﬁx'mﬂ:-.qg%

[cosT ACCGUHTJN
Answer to Q. No.57, N
Existing SP per unit

1270

2162
2108

1129
T 33
T 126

e

that Exist; '
Exlsllng P/V ratio of 40% is to be maintained in

CAR. K. MEHTA

T x (assume)

<

74.60

Tx—-3174.60

future.

if existing P/V ratio of 40% is to be

(b) Future Desired Profit equals to Present Actual Profit which is computed below :

Present Sales

(-) Present V. Cost (60% of Sales)
Present Contribution

(-) Fixed Cost
Profit

S
—

1 40,50,000
<24,30.000
< 16.20,000
< 14,00,000

<_2,20,000

Hence, units to be sold in future to maintain present profit is computed below :

Fixed Cost + Desired Profit

SP / Unit - VC / Unit

% (14,00,000 plus 3%) + ¥ 2,20,000

2270-% 174.60

= 17,422 units.

Answer to Q. No.58

uation

Evaluation of Bxiﬁl:iﬂg sit T40
Selling Price per unit

(-) Variable cost per unit o
Material v 12
Conversion cost v 4 _{_3%
Dealer's Margin il 1 8

Contribution per un! #7.20,000

Total contribution




(10% of Selling Price)

(b) At present, the de
12.5% of selling price, i.e. 12.5% of

Hence, Variable cost becomes .
Materials

COST ACCOUNTING
(90,000 units x ¥ B8 per unit)
(-) Fixed Cost T 5.00,000

Profit

(a) If SP per unit reduces by 5%, it becomes T 40 less
New Variable cost per unitis :
— Materials
— Conversion Cost
— Dealer's Margin

<16
T12
T 3.80

31.80

Contribution / unit = SP / unit - VC / unit
738-731.80=7 6.20

Hence, unis to be sold to maintain the present level of profi
Fixed Cost -+ Desired Profit

Contribution per unit
7 5,00,000 +%2,20,000

Rs.6.20

1.16,129 units.
aler's margin is 10% of selling price. If itis increased by 25%, it will become

T40=X5.

X 16

Units to be sold to maintain the present profit is computed below :

Conversion Cost T12
Dealer's Margin T 5
£33

Contribution per unit

SP / Unit — VC / Unit

T40-¥33=X7

Fixed Cost + Desired Profit

Contribution per unit

¥5,00,000+%2,20,000

1,02,857 units.

CAR. K HEHTE

3 2,20,000
5% je. T 38.

t is computed below :



COST ACCOUNTING

11.57 HTA
Answer to Q. No.59. CA R K ME
(a) Units to be sold for Profit of 10% of sales = FixedCost +Desired Profit
Contribution / Unit
10
L4 =
* UNits _ 16,30,000+ Too & 20%)
Snlving. we getx = 2|10,UDD Units 220 -7 15
Hence, at sales level of 2,10,000 units, profit of 109 of sales can be achieved.
i : - Fixed Cost
b) BEP (in units) =
(b) SP / Unit - VC / Unit
- <.6,30,000
0,000 units = At
1.4 SP /Unit -% 15
Solving, we get SP / Unit =% 20.25
: . Contribution
(c) P/V ratio = Sales x100
= —?—'l'l x100=25%
20
_ Profit
Margin of Safety = P/ V ratio
_ 260,000 ~%2,40,000

25%
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Given Below are the cogy g, - TCH COSTIN
Direct Materia| C1ails for the organi -
Direct Labouyr > anisation dyr;
5.““ 0 ‘ Ing 2013 ;
WIP at the beginn y V00  Diregy
n 10 acto
WIP at the end "9 4 42{; EEE Factory Duerr;::;: . 2 2?]0[]322
. b Selli iy
Office & Admn. overheags i 200,000 SEIE’;EI Expenses ¥ 2,00,000
During March, 2014 there i 2,00,000 35,00,000
ne

Direct Labour Co |
< 10,000 and Y 10r a job requiring Direct Materials Cost of Z 5,000,

are recovered as Direc
i tF .
works cnsp and &ellin ~1118ge to prime co actory Expenses of ¥ 1,000( Factory overheads

e VNS 1 ost)\bifice & ad
However il'is felf tha il dﬁﬁiﬁ'uﬁﬁﬁ"acyg- fice & admn., overheads as percentage to
o 10% 2l oot o 'Meads as™ percefitage to cost of production. )
job'if the same rantg@.nE_-:.IE;F't have gone up hy'%birungg and administration costs to the extent’
profit on sale is to be maintaindehaé shnul;i be the quotation for the
as aunng 2013.

From the records of a manufacturin
g company, the foliowing budgeted details are available:
Direct Materials 4 4
Direct Wages : 1,99,000
Machine shop = (12,000 hours)
Assembly shop (10,000 hours) 03,00
Work Overhead : 48000 11,00
Machine s
Assembly Zﬁzp s
K | 51800 1,40,000
Administrative Overhead 90,000
1,43,100

Selling Overhead

You are required to :
i. Prepare a schedule of
overhead recovery rates used under the giv
i. Work out a cost astimate for the following jo

overhead rates from the figures available stating the basis of
en circumstances.
b based on overhead computed.

| ial . oot Labour  Machine shop 30 hours
Direct Material : 25 kg @ ¥ 16.80 per kg.  Direct
15kg @ ¥ 20.00 per k9 Assembly shop 42 hours
The following budgeted cost information is available from the rec;a;d; ?ﬂf ;hg;ﬁnufacturing
concern for a particular year e
Direct Material
irect Wages 200
D[— Rolling ShopP [1.204[100 hours) b
. Milling Shop (E.4U,ﬂﬂ0 hours)
Works Overheads 460
. Rolling Shop 28.80
_ Milling ShopP s 24.00
Administratiun overhea 43.20
' o8 ~ the administration
elling Overhe®  of labour hours,
° are recwered on "J hﬂﬁg overhe ds on the basis of cost of
The works overneads ¢ works © st an

the bas!s 0

overheads on
productiun.
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COST ACCOUNTING 12.2

You are required to -
(1) Prepare annual cost statement so as to compute the budgeted cost of sales.

(2) Compute Overhead Recovery rates. |
(3) Compute total cost of a job which requires the following —

(a8) Direct Material ¥ 7,560.

(b) Labour Cost
- Rolling Shop 40 hours @ Z 6 per hour.
- Milling Shop 70 hours @ T 5 per hour.
overed on fixed percentage basis

-
E

:I In an engineering company, the factory overheads are rec : :
'9'4 on direct wages and administration overheads are absorbed on fixed percentage basis on
factory cost. i .
, : ken by it in a period :
The company has furnished the following data relating tj::;u ,ﬁ;ﬁ HRESES g Job 'f 02
Direct Material Z 54,000 3 ggggg
Direct Wages ¥ 42,000 3 23-250
Selling Price g ‘1.55.55UD S+
Profit percentage on Total Cost 10%
i el ates of factory and administration overheads.

(i) Computation of percentage recovery r

(i) Calculation of amount of factory overheads, administration overheads and profit for

each of the two jobs. N
(iii) Using the abnué recovery rates, fix the selling price of Job 103. The additional data

being :

Direct Material ¥ 24,000

Direct Wages < 20,000

Profit percentage on selling price 12% %

7 The following information for the year ended December 31% 2013 is obtained from the

books and records of a factory:
Completed Jobs Work-in-progress

< L 4
Raw malerials supplied from stores 90,000 30,000
Wages 1,00,000 40,000
Chargeable expenses 10,000 4,000
Materials transferred to work-in-progress 2,000 2,000
Materials returned to stores 1,000

Factory overhead is 80% of wages and office overhead 25% of factory cost.

The price of the executed contracts during 20131 was ¥ 4,10,000.

Prepare (i) Cunsu_l_idated Completed Jobs Account showing the profit made or loss
incurred, and also (ii) Consolidated Work-in-progress Account.

m:::mponent 893-X is made entirely in cost centre 476. Materi ‘ )
_ . Material cost is 6 paise per
" component and each component takes 10 minutes to produce. The machine u‘::eratnf IS
T paid 72 paise per hour and the machine hour rate is T 1.50. The setting up of the machine
to produce component 893-X takes 2 hours 20 minutes. - . - D,} J
. i i ’ { . N I J

On the basis of this information, prepare Cost Shee ‘
| . t showing the production and setting u
cost, both in total and per component, assuming a batch of (@) 10 components, (b)gwg

components, and (c) 1,000 components is produced.

Q.7. Units to be produced in year are 24.000. The set-up cost of one batch is T 324. The

~— inventory carrying cost per unit per annum is % 31.20. Compute Economic Batch Quantity.
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Q.1. Define Job Ccsting 5 Explain i The"rﬁtical Questions

+ IN brigf

Ans.: JOB COSTING . Jo

goods are many OSting is a me
: fa m
Special features of c!tcu Rohhacn

1.
2.
3.

12.3

. the Job Costing procedure ?

red of a i ‘
r Services re Scertaining cost in those industries in which

b Crcs: nd : .
© Costing are - ered against specific orders from customers.

Examples of |

ndustries | :
workshops N which Job Costina i _
PS, general engineering Eﬂrﬂpani::hj?\?e :‘; rarf:::;:raat:jls arT printing press, repair
' n, eic.

must be assi Job costing accumulates co ific |
Production O?'EEE :t?t ?: ghvi?i?t: 0 that each job may be id?:rfﬂﬁgd?pecmc o, 8 T
foreman instructions rela n order to the foreman to proceed with a job. It gives the

ling to the job - -
Job C . 12 job and also authorizes him to start the work.
ost Sheet : Costs for each job are accumulated on job cost sheets. :

Q.2. Define Batch Costing ? Explain, in brief the batch costing procedure ?

Ans.:

Bh‘:’_CH ?FISTING : This is a variation of job costing. While job costing is concerned with
costing of jobs made to a customer's particular requirements, batch costing is used when
production involves limited repetition work and a definite number of articles are

. manufactured in each batch to be held in stock for sale to customers generally. Thus, a

Q.3. Write a note on Econo

Ans. Economic Bﬂ_tt:h
Industries using

economic batch
with minimum COS

While determin

a)

b)

batch is cost unit consisting of a group of identical items.
Batch Costing is applied in the manufacture of shoes, toys, ready-made garments,

component parts of cars, radios, watches, etc.

BATCH COSTING PROCEDURE : Each batch is given a batch number in the same way
a job is given a job number. Direct materials, direct labour and direct expenses identified
with the batch are recorded on the Batch Cost Card. Overheads are ahsurt:fed on one of
the bases already explained as is done in the Job Costing. When a batch is completed,
the cost is totaled and the total cost is divided by the quantity produced to arrive at the

cost per unit or per dozen, etc., as required.

mic Batch Quantity.

Quantity {FBQL-EVE to determine the economic batch quantity. The
batch costing the optimum quantity in @ batch of production

: egfined as
guantity may be defl sing profis.

ith the purpose of maxim |
- p types of cost are considered.

h quantity, two |
) ting the machine and tools for production ofa

ing economic batc
S | Therefore, when the size of the batch 1S large,

: S
Setting uP Gos is of 2 fixed nature.

. lar batch. ThiS 15 = h is lower. o
E:tr:lfslip cost rarticle e cost of storage, interest on capital invested, etc.
t s incl her carrying cost.
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REVISIONARY PROBLEMS

‘1. The following direct costs were incurred on Job No-415 f Standard Radio Company:
Materials 24,010
Wages :

Deptt. A — 60 hours @73 3 per hr.
B — 40 hours @ Y 2 per hr.
C — 20 hours @R 5 per hr.

Overhead expenses for these three departments were estimated as follows:
Variable overheads: Deptt. A % 5,000 for 5,000 labour hours

I

B ¥ 3,000 for 1 500

C T 2000 for 500

ted at ¥ 20,000 for 10,000 normal working hours.
415 and calculate the price

L1

Fixed overheads: Estima

You are required to calculate the cost of Job
25% on selling price.

[Ans : T6,440]

Q.2. A factory uses job costing. The following

to give profit of

data are obtained from its books for the year

31.3.2013. .
Direct materials 90,000

Direct wages 75,000

52,500

Selling and distribution overheads

Administration overheads 42.000
Factory overheads 45,000
60,900

Profit

(a) Prepare a Job Cost Sheet indicating the Prime cost, Works cost. Production cost,
Cost of sales and Sales value.

(b) In 2014, the factory receives an order for a number of jobs. It is estimated that direct
materials required will be X 1.20,000 and direct labour will cost Z 75,000. What should
be the price for these jobs if factory intends to earn the same rate of profit on sales
assuming that the selling and distribution overheads have gone up by 15%7 The
factory recovers factory overheads as a percentage of direct wages and
administration and selling and distribution overheads as a percentage of works cost
based on cost rates prevailing in the previous year. |

[Ans : (a) T3, 65,400 (Sales), (b) Z4,28,400 (Sales)

Q.3. The following costs were incurred for a job during the year ending 31-1 2-2013

D!rect Materials 5,000 Factory Overheads 3 Dﬁg
g;:ect nges 3,000 Administrative Overheads 4IUDU
argeable Expenses 2,000 Selling and Distribution Overheads BFDDD

Selling price for the above Job was X 25,000. Yo j

showing the profit earned for the year 2013 from tt:l:]r;brzggfr? E}:tiﬁ{:f ?1[& 3 o

:glghalg E:E I:s%e executed in the year 2014. Materials, wages and chargeazle perme o3 JD'IE
,000, ¥ .10,000 and X 2,000 respectively for the Job. The variou e il

recovered on the following basis while calculating the estimated price IPENEIIN W 14

(a) Factory overheads as a percentage of direct wages.

(b) Administration and selling and distributio
[Ans: T.57,692] ’ n overheads a percentage of factory cost.




[Ans : Profit per unitis T3 and total
Q.6. A jobbing factory has

Faﬂtﬂry Overh

Tal . Cads Eunﬂ.DDD
Saministration o 5,00,00

Selli arge 0
|::ai5t,!?;‘_:',]I (t:ha"QEs > 00,000

ution 3,

Profit Charges Z.SE:EEE

A work orde 1,40,00
< 8,000, W " has to De exe : 4,20 'JEIE

Assuming that i
charges have
each by 15%.

and i as gone up by 20%. distributi
on the selling Selling and adminis y distribution

price as . 2015;;”“ the prodycf be-sol o0 astratjnn charges have gone up

to earn the sam
Factory overheads ais e rate of profit

based
overh %4.=on ini
eads on factory pogst Wages and administration, selling and distribution

January, February ang

and labour costs are booked at g

: : act .
The selling price is contracted at 7 15 L|l::ae||'s uﬁr TGRS AIe1RYea dba et fer Hbaur four

From the following data, present the prof

it | ; .
of the order for the 3,000 units. per unit of each batch order and Gverall position

Month Batch Output  Material Cost  Labour Cost
(Numbers) f 4
January 1,250 6,250 2,500
February 1,500 9,000 3,000
March 1,000 5,000 2,000
Labour is paid at the rate of T 2 per hour. The other details are:
Month Overf;eads Tut.:DL;iuur
12,000 4,000
January 9.000 4,500
February 15,000 5,000
March

profitis ¢ 15,000]
| 0 pieces of a component per month qur the
undertak{;r:}?htﬂ:gggﬁ i?dei: is opened against wh:cz mra:]eurhatl #:
are bmlgfgt g:;tuals. O?Erheaiizn?rteh:‘;;g;:aga :laaltea E?;s:nﬂlhe cost and

Isaetlb;?#; Eﬂgfcun s T 6 per ple:;a" position of the ordef of 1,200 pieces.

ensuing SiX months.

rofit per piece of €8¢ Batch Costing _
p BJ;;:hand Material cost w?;;:c;f Emi
- output units ¢ hours
Month - 120 zqg
210 40 140 28
00 0 150 280
January ¢ 0 680 140 270
February 22 630 150 300
March 180 700 160 320
April ggg 720
May

June
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The other details are:

Month Overhead expenses Direct labour hours

<

- 12,000 4,800

February 10,560 p s

March 12,000 5,000

"l 13.000 5,000

June 12,000 4 800

[Ans :Total Profit on 1,200 units = T792]

Q.7. As a cost accountant you find that the selling price of a product has been calculated as

follows:

Materials %24.00 L4

Direct Wages : 20 hours at

Re.1.00 per hour 20.00

(Dept. 1 =10 hrs.

Dept.2-6 hrs.

Dept.3 4 hrs.)

Prime Cost 44.00

Plus 50% on the prime cost 22.00 66.00

An analysis of the previous year's profit and loss account shows the following:

Materials < 35,000 Factory overheads <

Direct Wages: Dept. | 5,000
Dept. | 5,000 Dept. | 3,000
Dept.ll 6,000 Dept. lli 3,000
Dept. Il 4,000 Selling & Distribution Overheads 12,200

You are required to (a) draw up a job cost sheet; (b) calculate and enter the revised cost
using the previous year's figures as a basis; and (c) add to the total job cost 10% for profit
and given the final selling price.
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wer t No. 1- RE“I i —
' Sionary Prob
Jok oblems
— Cost Sheet
pirect Matlzér}iala o
wages — Ueptt. Job No.415
A—B0 hrs, x 3 3 18 Amount Rs _Am:unr 4
c:';ﬂ hrs. x 2 5 Buu 4010
«yariable Overheads Ohrs.xz5 4qp
E:;ghm* @32 80
Fixed Overheads : 120 hours @h;"”-z@ 14 80
'Luta! Cost 220 240
Srnﬁt - 2.5% on Selling Price 4 830
_ elling Price 1610
scomputation of overhead rates 6,440
Variable overheads per labour hour = Overhead
Labour hours
Department A _ Rs5,000 _ v 1 .
5000 | ponour
B _ Rs.3,000 _
1500 hrs. < 2 per hour
Rs.2,000
C = = =T 4 perh
500 hrs. palR
e ———
nswerto Q. No. 2 : Job Cost Sheet for the year ended 31" Dec., 2013
Particulars 4
Direct Materials Tﬂﬂﬂu
Direct wages Prime Cost 1,65,000
45,000
Factory overheads Works Cost 2.10,000
42,000
Administrative overheads Cost of Production 2 52,000
52.000
Selling and distribution overheads Cost of Sales 3,04,500
Profit 60,900
Sales Value 3.65,400

45,000 , 100 =60%

Calculation of Rales. 45
0 dil'ecl wages = ?5'000

1. % of factory overheads !

works €05t = 10,000
2. % of agminisE" =" 52,500 +21 c0p =2 60,37
3. Selling and distiPUte” overn€ad® ™" "e5 376, 400 =28.75%
| of tO works cos! 2.1{],[}&0

42,000 4 100 = 20%

-~
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Statement of estimated Cost and Price of Jobs in 2014
Particulars v
Direct Malenals - 12000
Direct wages £3.000
Prime Cost 195,000
Factory overheads (60% of di
s (60% of direct labour) Works Cost 2%%%
Admini i 0 g
Istrative Overheads (20% of works cost) Cost of Production 25%%%%
Selli istri 9 ¢
elling and distribution overheads (28.75% of works cost) Total Cost 3.%%%%%
Profit (20% of total cost) 71 4qp
Selling Price 4.28,400
Answer to Q. No. 3 : Job Cost Sheet for the year ended 31 Dec., 2013 _
: v
Particulars 500
~ Direct Materials 30
Direct Wages zm?g
Chargeable Expenses Prime Cost 10,000
3.000
Factory Overheads Factory Cost 13,000
N 4.000
Administration Overnead Cost of Production 17.000
, P 3.000
d = A
Selling and Distribution Overhea Cost of Sales 20,000
Profit 000
Selling Price 25,000
1. Faclory overhead as a percentage of direct wages .
2 Factory overhead x 100 _ 3,00,000 x 100 = 100%
Direct wages 3,000
2. Admn. Overhead as a percentage of factory cost
_ Admn.overhead , - 4000 , 100 = 30.77%
Factory cost 13,000
3. Selling and dist. Overhead as a percentage of factory cost
_ Sellinganddist.overhead .o _ 3.000 .0 53050
Factory cost 13,000
5. Profit as percentage of cost of sales
- __Profit 400 = x 2990 460 = 25%
Cost of sales 20,000
Job Cost Sheet (Estimated price of Job in 2014)
Particulars 4
Direct Materials 8,000
Direcl Wages 10,000
Chargeable Expenses 2.000
Prime Cost 20,000
Factory overhead (100% of direct wages) 10.000
Factory Cost 30,000
Admn. overhead (30.77% of factory cost) * 9,231
. _ Cost of Production 39,231
Selling and dist. Overhead (23.08% of factory cost) 6.023
Cost of Sales 46,154
Profit 11,538
_ Selling Price 57,692
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——=-10" the year 2013 ] ]
—
Rs
eactory Overheads imlg?:u?:u
: Prime Cost 11.00,000
ﬁdministratlnn Charges g
Factory or Works Cost 14.00,000
gelling Charges : 336,000
pistribution Charges ost of Production 17,36.000
2,24,000
1,40,000
Total Cost or Cost of Sales  21,00,000
Profit 420,000
#-_ &
calculation of Rates Sales  25,20,000
4 Factory overhead as a percentage of wages _ 300000 o0 eos
5,00,000
2. Administration charges as a percentage of factory cost = 3.36.000 _ .o0- 24%
14,00,000
2 Selling charges as a percentage of factory cost ) ff;dﬂ;ﬂu « 100 = 16%
00,00
4. Distribution charges as a percentage of factory cost = :f[?ﬁu[?t?n x 100 = 10%
4,20,000 _
5. Profitasa percentage of total cost = 100,000 x 100 = 20%
i 4
Statement showing estimated Cost and Profit on Work Order in 201 -
Particulars 8,000
Materials 5,000
ages Prime Cost 13,000
Overheads 3.600
Factory Overné . .
. R 72%) 1 16,600
(60% of wages. increased DY 20% Factory COS
4 581
ini ' rges . [
Administration Charge= _eased by 15%, .8 27 6%) costof Production 21 181
(24% of factory cost
3,004
; - 4%)
d Es i} | H "IIE-
Selling Charg , increaEEd by 15%. -
(16% of factory cost 2"""'5 129
Distribution Charges 10%., 1€ 9%) cost of Sales -
istnbution sed y - 5 146
(10% of factory cosh ted 30,875
price to be qu°
of EEIEE}

Profit (20% on cost
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Answer1o Q. No. § : Statement of Cost and Prnfit,*:LEHﬂh ?{t:. o ;-g‘,;:;
4500 1000 9.
(a) Batch Output (Nos.) __LE_E%_— 7 > N 25;-
2500 15.000 56
(b) Sales Value (@ T 15 per unit) 18,750 22.5°
Costs: 5250 9.000 5,000 Egégg
Material zjﬁﬂﬂ 3 000 zggg Q.Tﬁt]
“Overty 3750 3000 537500
(© T o ot 12,600 15.938 2550 18.750
c 0 0S5 50 75 i A
(d) Profit per batch (b) — (c) Wm 35 10
(e) Cost per unit (c) + (a) 5 5 5
Profit per unit (d) = (& -
it Tt e Overall Position of the order for 3,000 Units 7
45,000
Sales Value (3,000 units x ¥ 15) 30.000
Less: Total Cost (3,000 units x T 10) 15 000
Profit
*“Working Notes
Overheads charged are calculated as follows: . March
Jari. eb.
) Labour Hours:
0 Labour cost 2,500 % 3,000 % 25“”
N - 2
Labour rate per hour 2
= 1,250 =1,500 =1,000
(i) Overhead per hour:
_ Total overheads _ 312,000 _‘{E_E_JEE]_ <15,000
” Total labour hours 4,000 4,500 5,000
=33 =32 =3
(i) Overhead for batch (i) » (ii) T 3,750 T 3,000 T 3,000

Batch Cost Sheet for six months ending 30 June

Jan, Feb. Mar. Aprl  May June | Tolal
Batch output (unils) 210 200 220 180 200 220 | 1,230
Sales value @ .8 T 1660 1600 1760 1440 1600 1,760 | 9,840
Material cost T 650 640 680 630 700 720 | 4,020
Direct wages T 120 140 150 140 150 160 860
*Overhead expenses < 600 672 G72 621 780 800 | 4145
Total cost T 1370 1452 1502 1391 1630 1680 | 9025
Profit per batch < 310 148 258 49 -30 80 815
Total cost per unit 1 652 726 683 773 815 764 7.34
Profil per unit I 148 0.74 1.17 0.27 -0.15 0.36 0.66
Overall position of the order for 1,200 units. '
Sales values of 1,200 unit @ T 8/- per unil 2 9600
Total cost of 1,200 unils @ 7.34 per unil 7 Blgua
Profit z 797
*Working Note i
Overhead expenses in each month have bee i
example, in January; n charged on the basis of direct labour hours, For
Overhead expenses in each month have been : -
example, in January: charged on the basis of direct labour hours. For

Overhead rale = Overhead expenses + 4,800 hrs = 2.50 per hour
=< 12,000 + 4,800 hrs = 2.50 per hour. ‘

Charge for January = 240 hours @< 2.50 =% 600

Similar calculations lo be made for other months.
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answerto Q. : (1) FacToR CA R. K. MEHTA
-_-____'-""————_
— Departments
(i) Factory Overheads S 1 pd 2 3
, T 5,000 3,000 3,000
(ii)y Direct Labour Hours = _P_t_a_‘_”_‘!agﬂ 5.000 600 4 00
Hourly Rate
iii) Rate per hour (i) + (i) |
- 1.00 0.50 0.75
(2) Percentage of Selling and Distribution Cost to Works Cost
12200 "
- X = )¢
61,000 0 =20%
Job.... COST SHEET Period ........x
B 2
Materials 24.00
4
Direct Wages Dept.1 11
i 4 20.00
Dept. 3 = 44.00
Prime Cost .
Factory Overheads: 10.00
Dept. 1 (10 hrs. @ ¥ 1.00) 3.00
Dept. 2 (6 hrs. @3 0.50) 3,00 ;3,3?]
Dept. 3 (4 hrs. @ 0.75) o
Works Cost -
T rks cost) 72.00
selling and Distribution Cost (20% on wo 7.20
Cost of Sales 79.20
Profit (10% on cost)

Selling Price




DA
Q The balﬂn{:e in HD IN
th T
¥ © CO8tedger o . EGRATED ACCOUNTS
Sto Ulacturin
nl;Esi Ledger Congrg, 9 Company on January 1%, 2013 was
s FOgress [ ggoq oount |
d Go ds L ger CD“‘.TD‘ Acc T,UUU
eneral | e 0 oum 12,800
edger Ag ntrol Account '
\E?ﬁ JUstment Accoynt 4900
e given 1 21,800
rc e IGHUW
:tan © of Materig] 0 "ormaton for the year 2013
-y fa;ﬂlﬂw Wages 40,000
ing anudnré?s'ltixt?anses 60,000
ol st o™
elling an;gg EFPE_'"'SEE Recovered b
\_Safes Stribution Expenses Recovered 32;33
Ck of Finished G 1,50,000
: \‘%:;?" in progress atnﬁgﬁeiﬂt? ecember 31%, 2013 4,700
Ou are required to show the account ianr:H . 2013 14,700

prepare the Costing Profit & Loss Account f

the cost ledger for the above year 2013, 10

or the year and extract the Trial Balance.

The followi |
Ing balances are shown in the Cost Ledger as at January 1, 2013

Er;i?kh;d p?unds antrnl Accounl Dg EED S
-in-progress Control Account 4
Store Ledger Control Account m'ggg
Cost Ledger Control Account — 16.000
16.000 16,000
Transaction for the year ended December 31, 2013 were |
Purchase of Material 59,000
Purchase of Material directly Dy factory 3,600
Return to Suppliers (Stores) 400
Wages Paid :
Direct 4;-2{;‘3
Factory Indirect - 860
Adminastratﬁwel Sta'_ff 4: 200 62 600
Selling & Dlstrlbutl_un 4 400
Expenses (Direct) 10.200
Production Expenses 8,200
Administration Expenses 5200
Selling & Distribution EXpenses 61.000
Material Issued 10 Production 800
Material Lost by fire inthe ST oy 2,899
StDl’ES |55L|E'd o Maintenance adcf—‘:l___________._'— — 22,000
production OVETTEC e eovered from Finished Go0CS 15600
. ion yern les 1
ngT mlsu::urf?elrl*ﬁead recovered from cost of s3 1,32,000
Fi?li'ls%ged Goods produced bY factory 1 _;glggg
Cost of Goods Sold + Ledger to record the above transactions and
Sales counts in the Cos
Write up the 31:
prepare @ 1a




COST ACCOUNTING 13.2 CAR. K MEHTA

3. A inni i | in cost ledger were .
Q t the beginning of a month, the opening balances | g Z (in lakhs)

Q.4.

Stores Ledger Control Account gg
Work-in-Progress Control Account 430
Finished Goods Control Account 10
Building Construction Account 540
Cost Ledger Control Account
During the month, the following transactions took place
Materials - Purchased 40
Issued to production 50
Issued to general maintenance 6
Issued to building construction 4
\Wages - Gross wages paid 150
Indirect wages 40
For building construction 10
Works Overheads . Actual amount incurred (excluding
items shown above) 160
Absorbed in building construction 20
Under absorbed 8
Royalty paid 5
Selling overheads 25
Sales 450

At the end of the month, the stock of raw material and work-in-progress was I 55 lakhs
and 2 25 lakhs respectively. The loss arising in the raw material account is treated as
factory overheads. The building under construction was completed during the month.
Company's gross profit margin is 20% on sales.

Prepare the relevant control accounts to record the above transactions in the cost ledger
of the company.

As on 31* March, 2013, the following balance existed in a firm's cost ledger.
Debit X CreditT
Stores Ledger Control Account 3,00,000 -
Work-in-progress Control Account 1,50,000 -
Finished Goods Control Account 2,50,000 -
Manufacturing Overhead Control Account 15,000
Cost Ledger Control Account . 6,85.000
7,00,000 7.00.000
During the next quarter, the following transactions are recorded
Cost of goods produced by factory 2 2: 000
Manufacturing overhead incurred 190-000
Raw Material purchased 1 25'000
Direct Wages 140‘ 000
Indirect Wages 2{]'000
Cost of goods sold 1 75' 000
Materials issued to production 1'35’00{1
Sales returned (at cost) | glﬂﬂﬂ
Materials returned to suppliers 13'000
Manufacturing overhead recovered 35IDL'IO

You are required to prepare the Cost Ledger Control Alc., S
| 0S .. Stores Ledger Control A/C.,
Work-in-progress Control A/c., Finished Stock ledger Control Nc? Manufacturing

Overhead Control A/c., Wages Control A/c., Cost of Sale | at
the end of the quarter. s A/c. and the Trial balance

—
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as 3

Spoily ac
rEs pect o of Pa F;:.' Szfl'ﬂf:u ds ﬂmpan? You have been able to collect

v <U1
ger En t“ES_

result of consultation with

%
i
VY | Finished Stock 1.51,000
I _Creditors A/C
Closing Balance 1 : ;
9,200 Opening Balance 16.400
Manufacturillg_ﬂverheads AIC
Amount Spent 29 TEDD ?
Finished Goods Aic
Opening | ? t
1g Inventory 24,000 Closing Inventory 30,000

(ii) Additional Information -
k[‘t} The cash-book showed that ¥ 89,200 have been paid to creditors for raw-

maternal.

(2) Ending inventory of work-in-progress included material 5,000 on which 300

direct labour hours have been booked against wages and overheads.

(3) The job cards showed that workers have worked for 7.000 hours, The wage rate

is ¥ 10 per labour hour.

(4) Overhead recovery rate was < 4 per direct labour hour.
Yuu.ére required to complete the above accounts in the cost ledger of the company.

. _~From the following information
L// where the Cost and Financial A
31% March, 2013.

r

write up Control Accounts in the Ledger of a Factory
ccounts are integrated and prepare a Tral balance as on

B
_I
st april, 2012 ;

[ L edger Balance as on 1 April. 20 1,00,000 |
REEEWES EU.DDD J
sundry Debtors 1,25,000 .
Plant & Machinery 30,000

raft 50,000
Bank Overd
Raw Mﬂtﬁ‘ﬂal
ing the year- 80,000
tions during |

Tfﬂﬂsﬂcmat rial Purchase i 1,00,000 |
Raw b2 erial issued 1o Pro2uc" 26,000
R :z:al han d3 1:03:2015 95,000
Raw I:Lages* paid 93,000

enses — Incu’’ 93,000




CAR K MEHTA |

COST ACCOUNTING 13. 4 =
Selling & Distribution Expenses 10,000
Finished Stock — Production in factory (at Cost) 1,91-”‘32
. Sales (at Selling Price) 2-551”'?_
- Closing Stock B;:JDD |
Payments to Creditors 3.0 0' 000
Receipt from Debtors N A
}?’f BPR Limited keeps books on integrated accounting system. The mll%vi[n{%l]balances
‘ appear in the books as on April 1, 2012: Dr. %) )
Stores Control A/c ggggg -
Work-in-progress Alc 52'32 5 -
Finished Goods AJc T 22 750
Bank Alc } 18,200
Creditors Alc _
Fixed Assets Alc 1;;2;3 .
Debtors Alc o 1,82,000
Share Capital A/c | ] '11 375
Accumulated Depreciation A/c 3'?25
Provision for Doubtful Debts A/C ) 6.250
Factory Overheads Outstanding A/C - -
Pre-Paid Administration Overheads A/c 9,875 - BE}EI
Profit & Loss Alc . —— Sl
3,17,100 3.17.100
The transactions for the year ended on March 31, 2013 wer?e as given bElD;f :
Direct Wages 1,97,925 -
Indirect Wages 11,375 2,09,300
Purchase of materials (on credit) 2,27,500
Materials issued to production 2,50,250
Materials issued for repairs 4 550
Goods finished by factory during the year (at cost) 489,125
Credit Sales 6,82,500
Cost of Goods sold 5,00,500
Production overheads absorbed 1,09,200
Production overheads paid during the year 91,000
Production overheads outstanding at the end of year 71,775
Administration overheads paid during the year 27,300
Selling overheads incurred 31,850
Payment to Creditors 2 29 775
Payment received from Debtors 6 59 750
Depreciation of Machinery 14,789
Admgmstratiun overheads outstanding at the end of year 2'225
Provision for doubtful debts at the end of the year 4 590

Write up accounts in the integrated ledger of BPR Limited-and prepare Trial Balance.

The following discrepancies have been observed
In the course of annual stock taking.

between book stock and physical stock

Product | BiM Carda’St;c} Stores Ledger | Physical Count Cost Per Unit
" Card (Unit (Units) (Units) ()
A 8 800 770 30
Pass necessary j D ' - - ;
ry” journal entries to record

circumslances.

the above situatior: under different
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Q.1.

Ans.

Q.2.
Ans.

Ne
a
Stores Cted from the co CAR. K. MEHTA
o ———28 —— St records pf g manuf
Pening Balance T X —r_‘_________ ufacturing
Purcha ——-—=2rk-In-Progress:
se of MEtEri Hﬂ-——-m-_.ﬁ 0 e8s:
Transfer from al 3,36 0 —<PENing Balance :
| —%\xﬁﬂ% 1,26,000
ssues to WI|p 1.68,000 | 1
Overh 26,000
Issues t . 1336 ——=T11€ads recovered
O Repairs —=:20.000 | Clog 2.04,000
Def - 4 =319 Balance of w|p
eliciencies foung in stk ~——-2_U__D_U_H______ 84,000 |
Finshed Prod 12,600
Ucts: Entire
_ Output i

Prepare; (a) Costing Profi

Ao £ .8
©N extr

tand Los
S Account (b) Profit and Loss Account

[
MPORTANT THEORETICAL QUESTIONS

What 1s meant by i i
_ y interlocking s -
financial accounts ? g system and integrated system of maintaining cost and

There are two ways of organising cost accounts :
(a) Interlocking System; and
(b) Integrated accounts.

Under the interlocking syst
words, two separate sets 0

the other for financial accounts.

Under the integra
accounting informatio
into one set of accoun
accounts. In SUc

the cost

by the two sets of accounts.

What are Co
Under interloc

double entry i

ntrol Accounts
king system ©
n cost

adjustment acc

ledgers.

A control acco
com

may be

ounts,

unt IS maintd
pleted and

represents the tota
P diary ledger toWw
main ad

em. cost ac
f account books are main

2 Describe
ontrol accou

pooks. T hese cOn
summarising

mas

self-

t books. Thus, profits as per

cost led
iancing. The

o need to

ger SO (hat _
palance in cOn

 of accounts of similar nature

unt relates.

counts are distinct from financial accounts. In other
tained - one for cost accounts and

provides both financial and cost
and financial accounts are combined

financial accounts is the profit as per
reconcile the profits as shown

double entry in the cost ledger

irol accounts
maintained in
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13.6 CA R. K. MEHTA —|

Q.3.

Ans.

Q.4.

Ans.

What is Integrated Accounting ? Briefly describe the merits of integration.

fnteg_rrated Accounts  Integrated accounts is defined as a “single set of accounls which
provides both financial and cost accounting information”.

Under the system cost and financial accounts are kept in one self contained ledger which is

known as Integrated Ledger. This system does not remgpise the need mrhsefﬁ::::u :tE; ::1
accounts. There is thus no need for reconciliation of profit or loss SNOWN y

financial accounts.

Advantages of Integrated Accounting : The advantages of integrated accounting are as
follows :

' red.
(1) There is no need of reconciling the profits as only one Profit & Loss A/c is prepa

(2) Duplication of Clerical Work is avoided. Expenses accounts are aﬂ?w?:f v:r?{indgeggstr::
cost accounts and the summaries of the same accounts form the basis
financial accounts.

(3) Cost data are obtained without any delay as cost accounts are posted immediately from
original entries,

(4) There is an automatic check on the correctness of cost data. It ensurez t?at_ all :Efiﬁ:daﬁ
expenditure is included in cost accounts and reliable and proven cost gata 1S p
management for its decisions.

(5) This system tends to co-ordinate the functions of different sections of the accounting
which leads to economy.

What are the pre-requisites of Integrated Accounting?

(1) It should be decided whether cost and financial accounts are to be fully integrated or
to be integrated upto a particular stage like prime cost or factory cost.

(2) All accounts should be appropriately coded so as to facilitate understanding and
analysis.

(3) Proper coordination should exist between the staff responsible for financial and cost
aspects of the accounts for generating correct information and using it ef_fectively.

(4) A separate record should be maintained in respe'r':t of such items which are treated
differently in cost and financial accounts.

REVISIONARY PROBLEMS

&/r he following are the balances in the Cost Ledger of X Ltd. on 1% January, 2009 :

Dr. Cr.

4 7

Stores ledger control account 4 500 -~
Work-in-progress ledger control account 10,200 -
Finished goods ledger control account 6,800 -
Cost ledger control account — 21,500
Summary of transactions during the year 2009 : | <
Materials purchased 20,000
Materials issued to jobs (for production) 18,000
Materials issued for repairs in factory 1,000

Direct wages paid

15,000




paid
Factory expenses Paid
Administration €Xpenses paig
Selling expenses paid
Cost of finished good

S
Cost of finished 2004 Produced by factory

S sold

. The balance in a company'
hjﬂ/{ 5,00,000. During t Pany’'s work-in-progress control accounts as on 31"

he fD“DWiI‘Ig mon

Direct wages incurred

Direct materials issued
Completed work billed at cost
Factory overheads recovered

Special purchases for job directly by
Direct expenses

Materials refurned to stores

COST ACCOUNTIN G\
Indirect wage

CAR. K. MEHTA

9.000
6.000
15,000
7,000

: March, 2008 was
th, the transactions that tock place were as thus :

<

60,000
2,80,000
5,259,000
1,20,000

factory 12,000

17,000
4,000

You are required o write up the ledger account and state its final balance.

Q.3. From the following data write up the various accounts as you envisage in the cost ledger

and prepare a trial balance as on 31% March, 2010 -

(a) Balance as on 1% April, 2009 :

¥ (thousands)

1.240
Material control o0
Work-in-progress s
Finished Goods ©
Production Overhead = o
Administration Overhead 2 ()
Selling and Distribution Overhead =
General Ledger Control
" 2010
(b) Transactions for the year ended 31° March, -
Materials : |
Purchases e
Issued to : s
Jobs 2
Maintenance works ]
Administration UHII:-E o
Selling departmen 3
Direct wages . 0
Indurgcl::gse diture from store to fac -
Eiﬂ?ﬂ:tm verhead : 242
Inc:urrebc; iy
Absol u\rerhead Mo
Admimstrﬂli n d s
5
mf;;t 4 to finished 999
Aliucated to sales B
I




e CAR. K. MEHTA
COST ACCOUNTING 13.8 _
Sales overheads : 642
Incurred 820
Absorbed 9,584
Finished goods produced 9,773
Cost of goods sold 12,430
Sales realization < From the following
Q.4. Alpha Ltd. maintains integrated accounts of cot and financial accounts.
details write up control accounts v
3.00,000
Share capital 2.00.000
Reserve 5,00,000
Sundry creditors 5.75.000
Plant and machinery 2.00,000
Sundry debtors 1.50,000
Opening stock (stores) 75.000
Bank and cash balance
Transactions during the year were as follows 10.00.000
Stores purchased 10,50.000
Stores issued to production ' 95.000
Stores in hand 6.50.000
Total wages incurred 6 00 000
Direct wages charged to production 3.00. ot
Manufacturing expenses incurred | 2.?5. -
Manufacturing expenses charged to production 1,00.000
Selling and distribution expenses 1alnu.nuu
Finished goods produced by factory WU,
Sales at selling price 22,00,000
Closing stock (finished) ;95,000
Payments to creditors 11,00,000
21,00,000

Q.5.

Receipts from debtors

A company operates separate cost accounting and financial accounting systems. The
following is the list of Opening Balances as on 01.04.2012 in the Cost Ledger :

Particulars Dr. ()
Stores Ledger Control Account 63,375
1,04,595

WIP Control Account
Finished Goods Control Account 30,780

General Ledger Adjustment Account
Transactions for the quarter ended 30,.06.2012 are as under :

Particulars

Material purchased

Materials issued to production

Materials issued for factory repairs

Factory wages paid (including indirect wages ¥ 23,000)
Production overheads incurred

Production overheads under-absorbed and written off

Sales

Cr.(X)

1,88,750

R)
26,700

40,000
900
77,500
95,200
3,200

2,566,000

The Company's gross profit is 20% on Sales Saet At the end of the quarter, WIP stocks

increased by T 7,500.
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30.06.2012. 9er Adjustmen Account to reg

sl
Q.6. On 31" March, 2011 the follow;

Manufactunng Cﬂm;:an-,r Ng balances were extracted from the books of the Supreme

ﬂzﬁnﬁ?ge' Control Arc, Dr. ) Cr.R)
"= fogress Control A/c 365,000
Finished Goods Control Alc | 26,000
Cost Ledger Control Alc. £3.000

- 98,000

98,0 98,000

The following transactio
ns look place in Apri
Raw Materials ; LT

Purchased J
Relurned o Suppliers gg.ggun
Issued to Production EE:U'&U
Retgrned to Stores 3,000
Productive Wages 40,000
Indirect Labour 25,000
Factory Overheads Incurred 50,000
Selling and Administrative Expenses 40,000
Cost of Finished Goods transferred to warehouse 2.13,000
Cost of Goods sold 2,10,000
Sales 300,000

are applied to production at 150% of Direct Wages, any under/over

ctory QOverheads
absorb djustment in the subsequent moninhs.

absorbed overhead being carried forward for a

Required :

(a) Cost Ledger Control A/C.

(b) Stores Ledger Control A/c.

(C) Work-in-progress Control AJc.
(d) Finished Goods Control A/C.
(e) Factory Overhead Control Alc.

(f) Costing Profit and LOSS Alc.

ance as at 30" April, 201 1.

Also prepare Trial Bal

inq figures have been extracted from the cost records of a manufacturing uait .
Q.7. The following 9%
32,000
~ Opening balanc® 158,000
SO Purchases of material 80,000
Transfer from work-in-progress 1 60,000
Issues 10 work-in-progress . 20,000
Issues 10 repall and maintén Kin 6,000
.ancies found In stock-taking 50,000
A Opening balancs = 65,000
wgrk_m-progreﬁ-'" 2.40,000

Direct wages applied e

00 S¢

1 the
| rep

yge

fis

dl
ol

|=
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COST ACCOUNTING 13. 10 _

e

Q.8.

Q.s.

_ | cost from work-in-
Finished products - Entire outpul is sold al @ profit uf;D"aE’cb %l‘é ﬂﬂﬂ'-'-lﬂ
progress. Wages incurred I 70.000, Overhead incurred T 2,0U,UVY:

me from investment 7 10,000, Loss on sale of

Items not included in cost records ° Inco
capital assets ¥ 20,000.

Draw up Store Control Account, Work-in-progress
Account, Profit and Loss Account and Reconciliati

Control Account, Costing profit and Loss

on gtatement.

for the following
Pass journal entries in the cost books mun-mtegrated system)

transactions: ob

(i) Materials worth Z 25,000 returned 10 E:{DTES fru:;!; sié .4 % 20.000 for direct
i s paid ¥ 50,000. Wages 8 ies to office staff
2 EE:: r.;D:'EZI;D?]gt?:wgrds indirect factory labour, ¥ 40,000 towards salari

and 2 8,000 for salaries to selling and distribution staff
You are required to pass the

Dutta Enterprises operatées an integral system of accounting e YeRT ended 230" June.
Journal Entries for the following transactions that took place 10

2008. _ 4

v : 6,00,000
Raw materials purchased (50% on Credit) 4.00,000
Materials issued to production 200,000
Wages paid (50% Direct) | 1,00,000
Wages charged to production 80,000

Factory overhead incurred

Factory overheads charged to production 1 igggg
Selling and distribution overheads incurred ;

Finished goods produced at cost 5,00,000
Sales (50% Credit) ?.50.00[?
Closing stock Nil
Receipts from debtors 2,068,000
Payments to creditors 2 00,000

Q.10. The following transactions are exlracted from the books of XYZ Ltd. You are required to

journal entries under Integrated Accouns System.

L4
1. Purchase of raw materials on credit 4,00,000
2. Carriage inward 3,000
3. Paid to ceditors 3,00,000
4, Sores issued 2,50,000
5. Direct wages paid 2 00.000
6. Indirect wages paid -,rufuuﬂ
7. Works overheads incurred ‘
8. Materials issued for repairs 200,49
9. Selling expenses paid 2%
10. Office expenses paid 10000
11. Works overheads absorbed Sl
12. Cost of completed jobs SO0
8,60,000




